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1), Evasluate
J; x4+0* Qa>o. Ans. _2_/’.—]2.%7(;
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2). Use the method of variation of Peramet‘er‘s o solve
the Fro“em

Y+ Y =00,  yloy=o, y(m=o
where  f(X)=) and 7= Sk

3). Find the de)’l'[@f/'Ve of -/l’: xXyZ at dhe /;amzL (1,3,2) in the
direction of the vector 2%T- k.
What (s the maximum possible directional derivative of f
at that Foinf and what s Jts direction ?
What s +the -equation of +he (‘an,qu'f‘ plene to the
surface  f = constanct a)’c- the Pp,n(’ (1,3,2)7

4). For the ordmary c’lfferen{'ual equation X +ax+ X =u+u,
fmd the com[)Iefe, sdmi‘;m of X(t) for an Ln/m{: ut)= |+t -t
sub}ecf o the initial cmditions of X(0)=0 and x(0)=0_

5). Transfarm the mu/t‘:)o/e [nieim/
I={f I,/x+)"[ dx dy
‘{'O one in Yerms Of-‘ 3 and '?_ b/ meons of the relstions
X= B*41* Yy=2%1 .

What is the vrestriction on the 'f'ransfbrm.sh‘qn ?
Do not d'H:@mf{- to Ferfvrm the £n{~egrab‘on.

6), Use the _Fourier ‘l:rdnsform to solve the farl;,‘a, clfﬁerem‘fa/

e9 vati on

)

:'g_)%/ —Po{X<po, O0<Lt< ro

with  U40)= f(x) |
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) Are the followng problems  solvable in the domain 03X <0, 02t <to ?
(157%)  Explain why.

U . AU
. -3F = 3x
. $F=-3%

with the bounday conditions
Uflx,0) = f(x)
and
uco, t) not sFecif.‘eJ .
Discuss your svlutions on the t-x plone.




